
 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1650 
Bumpermate 

1 

This addition 07-03-2012 

Parts Diagram 

FMT133 

8” Wheels 

FMT1450/7 

Swivel Plate 

FMT187 

Swivel Locking Device 

FMT1650/5 

Bumper Grip 

FMT1650/1 

Clamp Holder 

FMT1650/3 

Top Piece 

FMT132 

Finger Screw 

FMT256 

Bar Lock Holder 

FMT1253/1 

Base Frame 

FMT1253/2 

Y-piece 
Base Upright 

FMT1450/6 

Horizontal Bar 

FMT1450/5 

 



 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1650 
Bumpermate 

2 

This addition 07-03-2012 

Packing List 

BOX 1 OF 1 
1 FMT1253/1   Base Frame 
2 FMT133    8” Wheels 
1 FMT1253/2   Y-piece 
1 FMT1450/5   Upright 
1 FMT1450/6   Horizontal Bar 
1 Set of fixings for base  
2 FMT1650/1   Clamp Holder 
4 FMT1650/5   Bumper Grip 
4 FMT256    Bar Locks 
1 FMT1450/7   Swivel Plate (see page 3 for fitment details) 
2 FMT1650/3   Top Piece 
1 FMT187    Swivel Locking Device 
1 M10 x 40 Set Screw 
1 M10 x 50 Set Screw 
1 M10 Nyloc 
4 M10 Washers 
2 Sets of Foam 
5 FMT132    Finger Screw 



 Fast Mover Tools 
T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com 

FMT1650 
Bumpermate 

3 

This addition 07-03-2012 

FMT1450/7 

FMT1450/7 
Swivel Plate 

Bent Washer 
(FMT187) 

FMT187 
Swivel Locking Device 

M10 x 50mm Set Screw 

M10 Washer 

FMT1450/5 
Main Upright 

M10 x 40mm Set Screw 

 


